DHP

BT-DHP Hydraulic Chuck
BT-DHP %82 T1

- ; N

[

N

~

FHdcHHE

TOOL HOLDERS

RIS Gl IEES = 2y I/
Specification d T Suit collet Wrench Weight =
BT30- DHP6-70 6 28 45 70 275 10 28 M5X0.8 T04 0.68 "
DHP8-70 8 30 45 70 275 10 28 M6XL.0 T04 0.71 /
DHP10-75 10 32 45 75 325 10 38 M6X1.0 - T04 0.73
DHP12-75 12 34 45 75 375 10 36 Mex1.0 Dl12/0D12 TO4 0.78 i3
DHP14-85 14 36 45 85 375 10 44 M6X1.0 - T04 0.83 e
DHP16-90 16 38 45 90 425 10 48 M8X1.0 T04 0.92 /
DHP18-90 18 41 45 90 425 10 48 MS8X1.0 - T04 0.95 /
DHP20-90 20 43 - 90 425 10 - M8X1.0 D20/0D20 T04 0.98 2 5
BT40- DHP6-65 6 28 50 65 275 10 23 M5X0.8 - T04 1.26 P
DHP6-90 6 28 50 90 275 10 44 M5X0.8 T04 1.42
DHP6-140 6 28 50 140 275 10 44 M5X0.8 T04 2.16 /
DHP8-65 8 30 50 65 275 10 23 M6X1.0 T04 1.26 .
DHP8-90 8 30 50 90 275 10 39 M6X1.0 T04 1.43 S
DHP8-140 8 30 50 140 275 10 44 MeX1.0 T04 2.20 W
DHP10-65 10 32 50 65 325 10 23 M6XL.0 T04 1.26 /
DHP10-90 10 32 50 90 325 10 44 M6X1.0 T04 1.45 /
DHP10-140 10 32 50 140 325 10 44 MeX1.0 - T04 2.40 s
DHP12-65 12 34 50 65 375 10 23 Mé6X1.0 DI12/0D12 T04 1.26 g
DHP12-90 12 34 50 90 375 10 44 Mexl1.0 D12/0D12 T04 1.46
DHP12-140 12 34 50 140 375 10 44 M6X1.0 D12/0D12 T04 2.60
DHP14-65 14 36 50 65 375 10 23 M6XI1.0 : T04 1.26
DHP14-90 14 36 50 90 375 10 44 M6X1.0 T04 1.48
DHP14-140 14 36 50 140 375 10 44 M6X1.0 T04 2.80
DHP16-65 16 38 50 65 425 10 23 M8X1.0 T04 1.27
DHP16-90 16 38 50 90 425 10 48 M8X1.0 T04 1.50
DHP16-140 16 38 50 140 425 10 48 M8XI.0 T04 2.80
DHP18-75 18 41 50 75 425 10 30 M8XI1.0 T04 1.35
DHP18-90 18 41 50 90 425 10 48 M8X1.0 T04 1.53
DHP18-140 18 41 50 140 425 10 48 M8X1.0 T04 2.85
DHP19-75 19 43 50 75 101 10 30 M8X1.0 : T04 1.38
DHP20-75 20 43 50 75 425 10 30 M8X1.0 D20/0D20 T04 1.40
DHP20-90 20 43 50 90 425 10 48 M8X1.0 D20/0D20 T04 1.56
DHP20-140 20 43 50 140 425 10 48 M8X1.0 D20/0D20 T04 2.89
DHP24-75 24 63 75 9% 10 . M16X1.0 : T05 2.02
DHP25-100 25 57 100 51 10 73 MI16X1.0 T05 2.05
DHP25-135 25 57 135 51 10 108 M16X1.0 : T05 2.75
DHP32-105 32 63 100 55 10 M16X1.0 )32/0D32 105 2.28
DHP32-135 32 63 135 55 10 M16X1.0 D32/0D32 T05 2.95
=] Q'l.

See next page =

>< DEREK




NS 19 FSMSH
SK hold BT hold HSK holde

FSOSI
1SO holds

DHP

BT-DHP Hydraulic Chuck

BT-DHP & &2 7] 4%

DHP

BT-DHP Super Slim Hydraulic Chuck
BT-DHP B4 f= % BR 7] 4

BR

MAX
30,000

B35

BRI

WF

BgE ERAEK wF 55
Specification d Suit collet Wrench Weight
BT50- DHP6-90 6 28 50 90 275 10 23 Mb5X0.8 T04 4.03
DHP6-120 6 28 50 120 275 10 44 M5X0.8 T04 4.35
DHP6-140 6 28 50 140 275 10 44 M5X0.8 T04 4.65
DHP8-90 8 30 50 90 275 10 23 Mexl.0 T04 4.05
DHP8-120 8 30 50 120 275 10 40 MexX1.0 T04 4.42
DHP8-140 8 30 50 140 275 10 44 WMex1.0 T04 4.68
DHP10-90 10 32 50 90 325 10 23 M6x1.0 T04 4.06
DHP10-120 10 32 50 120 325 10 44 Mexl1.0 T04 4.41
DHP10-140 10 32 50 140 325 10 44 MexXl.0 - T04 4,71
DHP12-90 12 34 50 90 375 10 23 Mexl1.0 D12/0D12 T04 4.07
DHP12-120 12 34 50 120 375 10 44 MexXl.0 D12/0D12 T04 4.43
DHP12-140 12 34 50 140 375 10 44 WMex1.0 D12/0D12 T04 4.73
DHP14-90 14 36 50 90 375 10 23 M6X1.0 - T04 4.07
DHP14-120 14 36 50 120 375 10 44 Mexl.0 T04 4.43
DHP14-140 14 36 50 140 375 10 44 Mex1.0 T04 4.72
DHP16-90 16 38 50 90 425 10 23 M8X1.0 T04 4.08
DHP16-120 16 38 50 120 425 10 48 M8X1.0 T04 4.43
DHP16-140 16 38 50 140 425 10 48 M8X1.0 T04 4.73
DHP18-90 18 41 50 90 425 10 32 M8X1.0 T04 4.10
DHP18-120 18 41 50 120 425 10 48 M8X1.0 T04 4.47
DHP18-140 18 41 50 140 425 10 48 M8X1.0 - T04 4.75
DHP20-90 20 43 50 90 425 10 32 M8X1.0 D20,/0D20 T04 411
DHP20-120 20 43 50 120 425 10 48 M8X1.0 D20,/0D20 T04 4.50
DHP20-140 20 43 50 140 425 10 48 M8X1.0 D20/0D20 T04 4.79
DHP25-105 25 57 - 105 51 10 67 M16x1.0 - T05 4.60
DHP25-150 25 57 150 51 10 112 M16X1.0 - T05 5.40
DHP32-115 32 63 115 55 10 77 M16X1.0 D32/0D32 T05 4.85
DHP32-150 32 63 - 150 55 10 112 MI16X1.0 D32/0D32 T05 5.67
i BMERIRTF, GRXEEBE,

Notice:Wrench is included,while collet shall be ordered separately.

%% B / Feature

MOHPTIERI AR EEE. SHEZHIMT, TIRIZRE,

WE)FERE: G2.5; 20,000 rpm.

W 3DEEE [EBEEN0.003 mm.

>< DEREK

WFor high-speed and high precision cutting;
MBalanced: G2.5; 20,000 rpm;
HRunout (X3D): < 0.003 mm.

Specification d Suit collet Wrench Weiﬁt
BT30- DHP6S-90 6 14 42 25 50 90 25 113 Mb5X0.8 T04 0.65
DHP8S-90 8 17 42 28 50 90 31 113 MexX1 TO4 0.67
DHP10S-90 10 19 44 30 50 90 33 113 Mé6X1 T04 0.70
DHP12S-90 12 21 46 32 50 90 36 113 M6X1 T04 0.72
BT40-DHP6S-110 6 14 38 27 60 - 110 25 145 M5X0.8 T04 1.30
DHP6S-150 6 14 48 26 57 85 150 25 185 M5X0.8 T04 1.60
DHP8S-110 8 17 40 30 60 - 110 31 145 Mexl T04 1.40
DHP8S-150 8 17 50 28 52 85 150 31 185 Mexl T04 1.70
DHP10S-110 10 19 42 32 60 - 110 33 145 Mexl T04 1.40
DHP10S-150 10 19 50 30 52 85 150 33 185 M6X1 o T04 1.70
DHP12S-110 12 21 44 34 60 - 110 36 145 Me6X1 D12/0D12 TO4 1.40
DHP12S-150 12 21 50 32 52 85 150 36 185 MexXl D12/0D12 T04 1.80
BT50- DHP6S-150 6 14 52 26 57 83 150 25 83 M5X0.8 - T04 4.20
DHP6S-200 6 14 56 26 57 100 200 25 100 M5X0.8 T04 4.60
DHP8S-150 8 17 54 28 52 83 150 31 83 M6X1 T04 4.30
DHP8S-200 8 17 58 28 52 100 200 31 100 M6X1 T04 4.70
DHP10S-150 10 19 56 30 52 83 150 33 83 M6X1 TO4 4.30
DHP10S-200 10 19 60 30 52 100 200 33 100 M6X1 - T04 4.80
DHP12S-150 12 21 58 32 52 83 150 36 83 MeX1 D12/0D12 T04 4.40
DHP12S-200 12 21 62 32 52 100 200 36 100 M6X1 D12/0D12 T04 4.80
T BRERSRTF, GREEBTE,
Notice:Wrench is included,while collet shall be ordered separately.
%% B4 / Feature
EDHPTIERFI AR SEHE., SHEZEIMI, I8I%5E4E,  WFor high-speed and high precision cutting;
WEEERRE: G2.5; 20,000 rpm. HBalanced: G2.5; 20,000 rpm;
W3DAZ & BEEH0.003 mm. BRunout (X3D): < 0.003 mm.
»>< DEREK

BHE

~
>
TOOL HOLDERS

Hd

FHIMS HH189 FHSMSH
S0 holder SK holde BT holder HSK hold

FHHOSI

A*
FEHS
Hold ccessories




SF SF

BT-SF Shrink Fit Holder BT-SF Shrink Fit Holder
BT-SFieAE=\ 474 ( —B85K ) BT-SFlE4tstsndt 747G ( —BEst)

MAX L = MAX L S

50,000 LaMax) 50,000 L2Max)
A L3(Min) Al L3(Min)
: 1 vvizzzzmen : 727izzzer i
e
B85 B85 73
¥ 8
5% £y Gl =8
Specification d L2 (Max) L3 (Min) Weight Specification L2 (Max) L3 (Min) Weight
T3 BT30- SF3-80 3 10 10 80 - 9 0.35 BT40- SF20-130 20 33 42 130 50 40 1.85 T3
7% SF4-80 4 10 10 80 - 12 0.40 SF20-160 20 33 42 160 50 40 2.05 5z
" SF5-80 5 10 10 80 - 15 0.43 SF20-200 20 33 42 200 50 40 2.35 "
SF6-80 6 21 27 80 28 18 0.45 SF25-100 25 44 53 100 55 45 1.65
SF8-80 8 21 27 80 34 24 0.50 SF25-130 25 44 53 130 55 45 1.90
3 SF10-80 10 24 32 80 40 30 0.55 SF25-160 25 44 53 160 55 45 2.20 23
" SF12-80 12 24 32 80 40 30 0.62 SF25-200 25 44 53 200 55 45 2.50 5=
SF14-80 14 27 34 80 42 32 0.65 SF32-100 32 44 53 100 60 50 2.00
SF16-80 16 27 34 80 42 32 0.68 SF32-130 32 44 53 130 60 50 2.30
03 SF18-80 18 33 42 80 50 40 0.71 SF32-160 32 44 53 160 60 50 2.60 05
s SF20-90 20 33 42 90 50 40 0.75 BT50- SF6-100 6 21 27 100 28 18 3.70 7
BT40- SF3-90 3 10 10 90 - 9 1.00 SF6-130 6 21 27 130 28 18 3.80
SF4-90 4 10 10 90 - 12 1.10 SF6-160 6 21 27 160 28 18 3.88
, SF5-90 5 10 10 90 - 15 1.00 SF6-200 6 21 27 200 28 18 4.00 _
5 SF6-90 6 21 27 90 28 18 1.15 SF8-100 8 21 27 100 34 24 3.60 92
" SF6-130 6 21 27 130 28 18 1.20 SF8-130 8 21 27 130 34 24 3.70 w
SF6-160 6 21 27 160 28 18 1.40 SF8-160 8 21 27 160 34 24 3.90
SF6-200 6 21 27 200 28 18 1.90 SF8-200 8 21 27 200 34 24 4.00 )
P SF8-90 8 21 27 90 34 24 1.15 SF10-100 10 24 32 100 40 30 3.65 7
3 SF8-130 8 21 27 130 34 24 1.30 SF10-130 10 24 32 130 40 30 3.78 g
SF8-160 8 21 27 160 34 24 1.50 SF10-160 10 24 32 160 40 30 4.00
SF8-200 8 21 27 200 34 24 1.90 SF10-200 10 24 32 200 40 30 4.15
SF10-90 10 24 32 90 40 30 1.20 SF12-100 12 24 32 100 40 30 3.70
SF10-130 10 24 32 130 40 30 1.50 SF12-130 12 24 32 130 40 30 3.80
SF10-160 10 24 32 160 40 30 1.80 SF12-160 12 24 32 160 40 30 4.10
SF10-200 10 24 32 200 40 30 1.90 SF12-200 12 24 32 200 40 30 4.25
SF12-90 12 24 32 90 40 30 1.30 SF14-100 14 27 34 100 42 32 3.70
SF12-130 12 24 32 130 40 30 1.60 SF14-130 14 27 34 130 42 32 3.80
SF12-160 12 24 32 160 40 30 1.80 SF14-160 14 27 34 160 42 32 4.10
SF12-200 12 24 32 200 40 30 2.00 SF14-200 14 27 34 200 42 32 4.25
SF14-90 14 27 34 90 42 32 1.30 SF16-100 16 27 34 100 42 32 3.75
SF14-130 14 27 34 130 42 32 1.60 SF16-130 16 27 34 130 42 32 3.88
SF14-160 14 27 34 160 42 32 1.80 SF16-160 16 27 34 160 42 32 4.20
SF14-200 14 27 34 200 42 32 2.00 SF16-200 16 27 34 200 42 32 4.50
SF16-90 16 27 34 90 42 32 1.40 SF18-100 18 33 42 100 50 40 3.75
SF16-130 16 27 34 130 42 32 1.70 SF18-130 18 33 42 130 50 40 3.88
SF16-160 16 27 34 160 42 32 1.95 SF18-160 18 33 42 160 50 40 4.20
SF16-200 16 27 34 200 42 32 2.20 SF18-200 18 33 42 200 50 40 4.50
SF18-90 18 33 42 90 50 40 1.50 SF20-100 20 33 42 100 50 40 3.80
SF18-130 18 33 42 130 50 40 1.80 SF20-130 20 33 42 130 50 40 4.00
SF18-160 18 33 42 160 50 40 2.00 SF20-160 20 33 42 160 50 40 4.30
SF18-200 18 33 42 200 50 40 2.30 SF20-200 20 33 42 200 50 40 4.60
SF20-90 20 33 42 90 50 40 1.55
HTH o=
WTH Q‘__-_ See next page <=

See next page
>< DEREK Pag »>< DEREK




SF/DSF DC

BT-SF Shrmk Flt Holder BT-DC Precision Slim Collet Chuck
BT-SFE#ER &I ( —8830 ) BT-DC/MME#5 =2 B 5H AN 2
MAX
50,000
il B8 e
Specification L2 (Max) L3 (Min) Weight A
BT50- SF25-100 25 44 53 100 55 45 3.82 m
SF25-130 25 44 53 130 55 45 4.05 ey
SF25-160 25 44 53 160 55 45 4.33
SF25-200 25 44 53 200 55 45 4.65 A
SF32-100 32 44 53 100 60 50 4.00 — )
SF32-130 32 44 53 130 60 50 4.40 % H B
SF32-160 32 44 53 160 60 50 4.70 |
3 SF32-200 32 44 53 200 60 50 5.00 — 3!
ng 7%
1A i)
%% B4 / Feature RSk B~ EARK  f RS IFENER  IRF BE
Specification Figue D L Suit collet  Tension screw Stop nut Wrench Weight
WE)FHERRE: G2.5; 25,000 rpm- MBalanced: G2.5; 25,000 rpm; BT30- DC6-60 A 14 26 60 DC6 E050U350 7D6-2 T04 0.90
%; W3DAE E [ BkEN0.003 mm. WRunout (X3D): < 0.003 mm. BEEEG A 14 50 90 D06 E050U650 7D6.2 104 110 %;
Wl DC12-70 B 34 48 70 DC12 E100U350 ZD12-1 T08-L 0.60 "
BT40- DC6-60 A 14 26 60 DC6 E050U450 7D6-2 T04-L 1.02
DC6-90 A 14 45 90 DC6 E050U450 7D6-2 T04-L 1.05
03 . . DC6-120 A 14 60 120 DC6 E050U800 7D6-2 T04-L 1.08 s
2. | BI-DSF Shrmk;F;[iHolder - DC6-150 A 14 76 150  DC6  EO50U1300  zD62  TO4L 1.1 e
BT-DSFlE4SCERIETIHR ( EESK ) DC8-90 A 22 53 90 DC8 F060U600 7D8-1 T05-L 1.10
DC8-120 A 22 65 120 DC8 E060U900 7D8-1 T05-L 1.40
\ DC10-90 B 28 63 90 DC10 E080U300 ZD10-2 T06-L 1.20
o MAX DC10-120 A 28 60 120 DC10 E080U850 ZD10-1 TO6-L 1.57 23
ne 5%@99 DC12-70 B 34 43 70 DC12 E100U350 ZD12-1 TO8-L 1.08 2z
DC12-90 B 34 63 90 DC12 E100U350 ZD12-1 T08-L 1.28
- DC12-120 B 34 93 120 DC12 E100U350 ZD12-1 TOS-L 1.49
e Z 45 DC12-150 B 34 123 150 DC12 E100U350 ZD12-1 TOS-L 1.80 e
] BT50- DC10-110 A 28 57 110 DC10 E080U800 ZD12-1 T06-L 4.20 il
s DC10-150 A 28 75 150  DCI0 E080U1200 ZD12-1 T06-L 4.32 3
: 1 o DC12-110 B 34 72 110 DC12 E100U350 ZD12-1 TOS-L 4.70 2
Ll L DC12-150 A 34 80 150 DC12 E100U1100 ZD12-1 T08-L 5.01
% é [r L T MERIRTF, AREEBITH,
= Notice:Wrench is mcluded while collet shall be ordered separately.
; 4% 2% / Feature
;;Un 1 =
SpeCIﬁﬁcatlon 'w%gﬁij W%ﬁlt WEFERRE: G2.5; 30,000 rpm. MBalanced: G2.5; 30,000 rpm;
BT30- DSF12-35 38 ) 13 : 35 L06 0.40 W3DEE & E BEEH0.003 mm. mWRunout (X3D): < 0.003 mm.
BT40- DSF12-50 38 - 18 - 50 L06 1.10
DSF12-75 38 - 48 - 75 LO6 1.40
DSF12-135 41 - 108 - 135 L06 2.20
BT50- DSF12-75 38 65 25 12 75 LO6 4.00
DSF12-105 41 65 55 12 105 LO6 4.40
DSF12-135 41 65 85 12 135 L06 4.70
i RERSIRF,
Notice:Wrench is included.
4§ B4 / Feature
W) FEERE: G2.5; 25,000 rpm. MBalanced: G2.5; 25,000 rpm;
W 3DEE &[5 BEEH0.003 mm. WRunout (X3D): < 0.003 mm.

>< DEREK >< DEREK




GSK GSK/DSK

BT-GSK High Precision Chuck BT-GSK High Precision Chuck
BT-GSK& R 5% 2] 3k A 2 BT-GSK & i 15 % 2] 3 A< &
MAX f BigE &~ BRIk BE
4%299 gz Specification Figure D Suitcollet  Weight
BT50- GSK16-100 A 100 40 40.5 - 201.8 100 M16x2 DSK16 3.93
GSK16-125 A 100 40 40.5 - 226.8 125 M16x2 DSK16 4.17
GSK16-150 A 100 40 40.5 - 251.8 150 M16x2 DSK16 4.49 ”I" )
GSK16-200L B 100 40 40.5 48.4 301.8 200 M16x2 DSK16 5.50 CE
GSK16-250L B 100 40 40.5 48.4 351.8 250 M16x2 DSK16 6.50 LE
GSK20-100 A 100 48 48.5 ; 201.8 100 M16x2 DSK20 4.10 g
GSK20-125 A 100 48 48.5 - 226.8 125 M16x2 DSK20 4.32
GSK20-150 A 100 48 48.5 - 251.8 150 M16x2 DSK20 4.65
) GSK20-200 A 100 48 48.5 - 301.8 200 M16x2 DSK20 5.75
&% GSK20-250L B 100 48 48.5 55.4 351.8 250 M16x2 DSK20 6.78 &
bk GSK20-300L B 100 48 48.5 55.4 401.8 300 M16x2 DSK20 7.80 Az
Bk ES BARK BE=E GSK25-100 A 100 55 55 - 201.8 100 M20x2 DSK25 4.10
Specification  Figure Suitcollet ~ Weight GSK25-125 A 100 55 55 - 226.8 125  M20x2  DSK25 4.62
. BT30- GSK6-70 A 46 19.5 20 - 118.4 70 M6x1 DSK6 0.45 GSK25-150 A 100 55 55 ; 251.8 150 M20x2 DSK25 5.10 .
;% GSK6-100 A 46 19.5 20 ; 148.4 100 M6x1 DSK6 0.64 GSK25-200 A 100 55 55 - 301.8 200 M20x2 DSK25 5.81 ;%_
GSK10-70 A 46 27 27.5 - 118.4 70 M10x1.5  DSK10  0.46 GSK25-250L B 100 55 55 61.4 351.8 250 M20x2 DSK25 6.85
GSK10-100 A 46 27 27.5 - 148.4 100  M10x1.5 DSK10  0.70 GSK25-300L B 100 55 55 61.4 401.8 300 M20x2 DSK25 8.00
. GSK16-70 A 46 40 40.5 - 118.4 70 M16x2 DSK16 0.70 . BRERFEEBIE, ANEA O HKIEIEE R KIEESE EB73E, ;
52 GSK16-100 A 46 40 40.5 - 148.4 100 M16x2 DSK16 1.00 Notice: Collets and wrenchs shall be ordered separate y. bE
w” GSK16-120 A 46 40 40.5 - 168.4 120 M16x2 DSK16 1.25 w”
GSK16-150 A 46 40 40.5 - 198.4 150 M16x2 DSK16 1.35 %% B / Feature
GSK20-70 A 46 48 48.5 : 118.4 70 M16x2 ~ DSK20  0.75 WE EERE: G2.5; 25,000 rpm. WBalanced: G2.5; 25,000 rpm:
24 SN0 O R O R - R — . OV T D U W30 % 5 BEH0.005 mm. mRunout (X3D): < 0.005 mm. 23
e GSK25-100 A 46 55 55 - 148.4 100 M20x2 DSK25 1.20 . . hE
BT40- GSK6-70 A 63 19.5 20 - 135.4 70 M6x1 DSK6 1.05 BT-DSK High Precision Chuck
GSK6-100 A 63 19.5 20 - 165.4 100 M6x1 DSK6 1.25 BT-DSKE 1R 1522 5 sk 2= g
- GSK6-120 A 63 19.5 20 ; 185.4 120 M6x1 DSK6 1.39 e
i GSK6-150L B 63 19.5 20 26.4 2154 150 M6x1 DSK6 1.55 i
# GSK10-70 A 63 27 27.5 - 135.4 70 M10x1.5  DSK10  1.10 #y
. GSK10-100 A 63 27 27.5 - 165.4 100  M10x1.5  DSK10  1.30 .
GSK10-120 A 63 27 27.5 - 185.4 120  M10x1.5  DSK10  1.42
GSK10-150 A 63 27 27.5 - 2154 150 M10x1.5 DSK1O  1.55
GSK10-200 B 63 27 275 33.7 2654 200 M10xl.5 DSKIO  1.85
GSK16-70 A 63 40 40.5 - 135.4 70 M16x2 DSK16 1.21
GSK16-100 A 63 40 40.5 - 165.4 100 M16x2 DSK16 1.42
GSK16-120 A 63 40 40.5 - 185.4 120 M16x2 DSK16 1.61
GSK16-150 A 63 40 40.5 - 215.4 150 M16x2 DSK16 1.80
GSK16-200. B 63 40 40.5  45.7  265.4 200 M16x2 DSK16 1.95
GSK20-70 A 63 48 48.5 - 135.4 70 M16x2 DSK20  1.52
GSK20-100 A 63 48 48.5 - 165.4 100 M16x2 DSK20  1.68
GSK20-120 A 63 48 48.5 - 185.4 120 M16x2 DSK20  1.90
GSK20-150 A 63 48 48.5 - 215.4 150 M16x2 DSK20  2.10 Bigk Bl E AR BE
GSK20-200. B 63 48 485 557 2654 200  M16x2  DSK20  2.30 Specification  Figure Suitcollet — Weight
GSK25-100 A 63 55 55 - 165.4 100 M20x2 DSK25 1.81 BT30- DSK6-70 A 46 20 20 - 118.4 70 M6x1 DSK6 0.45
GSK25-120 A 63 55 55 - 185.4 120 M20x2 DSK25 2.05 DSK6-100 A 46 20 20 - 148.4 100 M6x1 DSK6 0.64
GSK25-150 A 63 55 55 ) 215.4 150 M20x2 DSK25 2.30 DSK10-70 A 46 27.5 27.5 - 118.4 70 M10x1.5 DSK10 0.46
GSK25-200L. B 63 55 55 59.9  265.4 200 M20x2 DSK25 2.65 DSK10-100 A 46 275 275 - 1484 100  MI10x1.5 DSK10 0.70
BT50- GSK10-105 A 100 27 27.5 - 206.8 105 M10x1.5 DSK10 3.78 DSK16-70 A 46 40.5 40.5 - 118.4 70 M16x2 DSK16 0.70
GSK10-135 A 100 27 27.5 - 236.8 135 M10x1.5 DSK10  4.00 DSk16-100 A 46 405 405 - 148.4 100 M16x2 DSK16 1.00
GSK10-165 A 100 27 27.5 - 266.8 165 M10x1.5 DSK10  4.33 DSK16-120 A 46 405 405 - 168.4 120 M16x2 DSK16 1.25
GSK10-200. B 100 27 27.5 35.2 301.8 200 M10x1.5 DSK10  4.75 DSK16-150 A 46 405 405 - 198.4 150 M16x2 DSK16 1.35
BTH N #TH /)
See next page €= See next page “=

B28 »< DEREK F< DEREK




DSK ER

BT-DSK High Precision Chuck BT-ER Sprin% Collet Chuck
BT-DSK&E i 15 % f2] e A f2 BT-ERIE M =] s A B2
ARG B EREE B8 -
Specification Figure D Suit collet Weight r -
BT30- DSK20-70 A 46 485 485 - 1184 70 M16x2 DSK20 0.75
DSK20-100 A 46 485 485 - 148.4 100 M16x2 DSK20 1.15 q - .
DSK25-100 A 46 55 55 - 148.4 100 M20x2 DSK25 1.20 ;E T,
BT40- DSK6-70 A 63 20 20 - 135.4 70 M6x1 DSK6 1.05 \m — i
DSKE100 A 63 20 20 . 1654 100 M6xl DSK6 1.25 % ﬁ @ m . 7e
DSK6-120 A 63 20 20 - 185.4 120 M6x1 DSK6 1.39 e
DSK6-150L B 63 20 20 26.4 2154 150 M6x1 DSK6 1.55 F Bs152 553 L
DSK10-70 A 63 275 275 - 1354 70  MI10xl.5 DSK10 1.10
DSK10-100 A 63 275 275 - 165.4 100  M10x1.5 DSK10 1.30 RlgE BE
% DSK10-120 A 63 275 27.5 - 185.4 120  M10x1.5  DSKI10 1.42 Specification d1 d2 ds L1 L T Weight g
3z DSK10-150 A 63 275 275 - 215.4 150  M10x1.5 DSK10 1.55 BT30- ER16-70 28 16 28 70 118.4 M10X1.5P 0.52 e
DSK10-200. B 63 275 275 33.7 265.4 200 MI10xl.5 DSK10 1.85 ER16-100 28 16 28 100 148.4 M10X1.5P 0.64
DSK16-70 A 63 40.5  40.5 - 135.4 70 M16x2 DSK16 1.21 ER16-120 28 16 28 120 168.4 M10X1.5P 0.73
T DSK16-100 A 63 405 405 - 165.4 100  M16x2 DSK16 1.42 ER20-70 34 20 34 70 118.4 M12X1.75P 0.57 @3
il DSK16-120 A 63 405  40.5 - 185.4 120  M16x2 DSK16 1.61 ER20-100 34 20 34 100 148.4 M12X1.75P 0.76 z;
DSK16-150 A 63 405 405 . 215.4 150  MI16x2 DSK16 1.80 ER20-135 34 20 34 135 183.4 M12X1.75P 0.99
DSKI6-200L B 63  40.5 405 457  265.4 200  M16x2 DSK16 1.95 ER25-70 42 25 a2 /0 118.4 M16X2.0P 0.66
DSK20-70 A 63 485 485 : 1354 70  Ml6x2 DSK20 1.52 ER25-100 42 25 42 100 148.4 M16X2.0P 0.98
23 DSK20-100 A 63 485 485 - 1654 100  MI16x2 DSK20  1.68 ER25-135 42 25 42 135 183.4 M16X2.0P 1.31 21
e ER32-70 50 32 50 70 118.4 M16X2.0P 0.72 P
DSK20-120 A 63 485 485 - 185.4 120 M16x2 DSK20 1.90 ER32.100 B0 0 50 100 1464 M16xX5 OF 114
DSK20-150 A 63 485 485 - 215.4 150 M16x2 DSK20 2.10 e 63 20 63 80 128.4 M1EX2 OP 120
b DSK20-200L B 63 485 485 55.7  265.4 200 M16x2 DSK20 2.30 BT40- ER16-70 28 16 28 20 1354 M10XL 5P 103 i
e DSK25-120 A 63 55 58 - 185.4 120 M20x2 DSK25 2.05 ER16-125 28 16 28 125 190.4 M10X1.5P 1.30 e
DSK25-150 A 63 55 55 - 215.4 150 M20x2 DSK25 2.30 ER16-150 28 16 28 150 215.4 M10X1.5P 1.44
DSK25-200L B 63 55 55 59.9 265.4 200 M20x2 DSK25 2.65 ER20-70 34 20 34 70 135.4 M12X1.75P 1.12
e BT50-DSK10-105 A 100 27.5 27.5 - 206.8 105  M10x1.5 DSK10 3.78 ER20-100 34 20 34 100 170.4 M12X1.75P 1.33 g
] DSK10-135 A 100 27.5 275 - 236.8 135 MI10x1.5  DSKIO 4.00 ER20-125 34 20 34 125 190.4 M12X1.75P 1.48 4
# DSK10-165 A 100 27.5 27.5 ; 266.8 165  M10x1.5 DSK10 4.33 ER20-150 34 20 34 150 215.4 M12X1.75P 1.65 s
) DSK10-200. B 100 27.5 275 352 301.8 200 M10xl.5 DSK10 4.75 ER25-70 42 25 42 70 135.4 M16X2.0P 1.22 7
DSK16-100 A 100 40.5 405 - 201.8 100 M16x2 DSK16 3.93 ER25-100 42 25 42 100 165.4 M16X2.0P 1.49
DSK16-125 A 100 405 405 - 226.8 125 M16x2 DSK16 4.17 ER25-125 42 25 42 125 190.4 M16X2.0P 1.71
DSK16-150 A 100 405 405 - 251.8 150 M16x2 DSK16 4.49 ER25-150 42 25 42 150 215.4 M16X2.0P 1.97
DSK16-200L B 100 40.5 405 484 301.8 200  ML6x2 DSK16 5.50 ER32-70 50 32 50 70 135.4 M16X2.0P 1.27
DSK16-250L B 100 40.5 405 484 351.8 250  M16x2 DSK16 6.50 ER32-100 50 32 50 100 165.4 M16X2.0P 1.70
DSK20-100 A 100 485  48.5 : 201.8 100  MI6x2 DSK20  4.10 ER32-150 50 32 50 150 215.4 M16X2.0P 2.39
DSK20-125 A 100 485  48.5 : 2268 125  MI16x2 DSK20 4.32 ER32-200 50 32 50 200 265.4 M16X2.0P 3.12
DSK20-150 A 100 485  48.5 : 251.8 150  MI16x2 DSK20  4.65 ER40-80 63 40 63 80 145.4 M20X2.0P 1.62
DSK20200 A 100 485 485 - 301.8 200  MI6x2 DSK20  5.75 BRI i i er LEg Lo LARLE G
ER40-120 63 40 63 120 185.4 M20X2.0P 2.55
DSK20-250L B 100 485 485 554  351.8 250 M16x2 DSK20 6.78 ERA0-150 = o = 170 BT TR 393
DSK20-300L B 100 48.5 485 554  401.8 300 M16x2 DSK20 7.80 BT50- ER16-70 o5 16 28 70 171.8 M10XL 5P 367
DSK25-100 A 100 55 55 - 201.8 100 M20x2 DSK25 4.1 ER16-100 28 i 28 100 201.8 M10X1.5P 3.77
DSK25-125 A 100 55 55 - 226.8 125 M20x2 DSK25 4.62 ER16-135 28 16 28 135 236.8 M10X1.5P 3.95
DSK25-150 A 100 55 55 - 251.8 150 M20x2 DSK25 5.10 ER16-165 28 16 28 165 266.8 M10X1.5P 4.04
DSK25-200 A 100 55 55 ; 301.8 200 M20x2 DSK25 5.81 ER20-70 34 20 34 70 171.8 M12X1.75P 3.66
DSK25-250L B 100 55 55 61.4 351.8 250 M20x2 DSK25 6.85 ER20-100 34 20 34 100 201.8 M12X1.75P 3.75
DSK25-300L B 100 55 55 61.4  401.8 300 M20x2 DSK25 8.00 ER20-135 34 20 34 135 236.8 M12X1.75P 4.08
i ERERTFEEB/RE, AN 0 KIS E R H k218 R73E, ER20-150 34 20 34 150 251.8 M12X1.75P 4.22
Notice: Collets and wrenchs shall be ordered separately. ER20-200 34 20 34 200 301.8 M12X1.75P 4.66
ER20-250 34 20 34 250 351.8 M12X1.75P 5.16
3 % / Feature ER25-70 42 25 42 70 171.8 M16X2.0P 3.64
WE &R E: G2.5; 20,000 rpm. WBalanced: G2.5; 20,000 rpm; ER25-100 42 25 42 100 201.8 M16X2.0P 4.02
W 3DEE S E Bk EN0.005 mm. ERunout (X3D): < 0.005 mm. HTH [/

See next page
53 DEREK F< DEREK




ER/VER TER

BT-ER Sprmg Collet Chuck BT-TER Tapping Chuck
BT-ERE M H kA58 BT-TER{RAE TN 5F 25 T1 1A

= 13mm
gk = =
Specification di d2 ds L1 L T Weight <.5mm_
BT50- ER25-125 42 25 42 125 226.8 M16X2.0P 4.26 /
ER25-150 42 25 42 150 251.8 M16X2.0P 454 - — o o
ER25-200 42 25 42 200 301.8 M16X2.0P 5.01 v T.
ER25-250 42 25 42 250 351.8 M16X2.0P 5.52 % ﬁ iS3 F \ij g
ER32-80 50 32 50 80 181.8 M16X2.0P 3.80 . L . bk
ER32-100 50 32 50 100 201.8 M16X2.0P 4.07 — - — L i g
ER32-120 50 32 50 120 221.8 M16X2.0P 4.35 - -
ER32-150 50 S 50 150 251.8 M16X2.0P 4.82 A g EAEGx FEEH T2
ER32-200 50 32 50 200 301.8 M16X2.0P 5.32 Specification Suit collet Tapping capacity Weight
ég ER32-250 50 32 50 250 351.8 M16X2.0P 5.92 BT30- TER16 28 30 128.4 ER16 M3-M12 0.61 ‘if
i%é ER40-80 63 40 63 80 181.8 M20X2.0P 3.93 TER20 34 90 138.4 ER20 M4-M16 0.75 ;%é
ER40-100 63 40 63 100 201.8 M20X2.0P e BT40- TER16 28 77 145.4 ER16 M3-M12 1.10
ER40-120 63 40 63 120 221.8 M20X2.0P 4.86 TER20 34 86 154.4 ER20 M4-M16 1.22
ER40-150 63 40 63 150 251.8 M20X2.0P 5.51 TER25 42 90 158.4 ER25 M5-M20 1.37
32 E: ERMRFEEBRE, TER32 50 94 162.4 ER32 M8-M27 1.52 32
B Notice: Collets and wrenchs shall be ordered separately. TER40 63 98 166.4 ER40 M12-M36 295 B
BT50- TER16 28 80 181.8 ER16 M3-M12 3.80
TER20 34 99 200.8 ER20 M4-M16 3.83
o3 TER25 42 97 198.8 ER25 M5-M20 3.91 03
Ts : - pi
73 BT- VER Tapping Chuck TER32 50 95 196.8 ER32 M8-M27 4.22 73
BT- VERHH%T #ﬁﬁ{aﬂlﬂ:ﬂ$ﬁ TER40 63 117 218.8 ER40 M12-M36 4,51
¥ BRMEFEERITE,
Notice: Collets and wrenchs shall be ordered separately.
HE %% 25 / Feature hE
| : | W 85 FERM TSI, SHIETORMSRREERE R M,

: I WA BTN T SSTEERSR B TR BN AT, TAARAURY O 4755 AT 118 P SRR BREE . )
s L WA TIFEE AT R OEAMCNCE R F t
EE . £, B Clamped with ER spring collect, please check the inn size of ER collet when you choose. EE

e — M The tapping head of this holder designed with floating tap, the tapping torque is transmitted through the ball inside the floating tap holder. E

B85 70 L W Mainly used on machine centers and CNC milling machines.
RISk WFREN AR B=E
Specification Tapping capacity Suit extender Weight
BT40- VER16-61 43.5 20 61 0.2 1 M3-M12 VER16-M24 1.05
VER20-72 52 25 72 0.2 1 M5-M16 VER20-M26 1.20
VER25-82 60 32 82 0.2 1 M6-M20 VER25-M28 1.35
VER32-98 72 40 98 0.2 1 M10-M24 VER32-M30 1.68
VER40-107 87 50 107 0.2 1 M14-M33 VER40-M32 1.95
BT50- VER16-72 43.5 20 72 0.2 1 M3-M12 VER16-M24 3.55
VER20-72 52 25 83 0.2 1 M5-M16 VER20-M26 3.45
VER25-93 60 32 93 0.2 1 M6-M20 VER25-M28 3.88
VER32-109 72 40 109 0.2 1 M10-M24 VER32-M30 4.22
VER40-124 87 50 124 0.2 1 M14-M33 VER40-M32 4.65
i BAIRARFEEBITHE,
Notice: Collets and wrenchs shall be ordered separately.
%% B / Feature
WMEZRSHHEERAZHE0%U L, W Tap tool life increased by 80% and above;
BEIESIN T & ENR2-4ME, WWork efficiency increased 2 to 4 times;
MRS REMIEEHEEE, MBetter surface quality;
W2 RG4S A S e gk i, W With ER tapping collet;
W R A R M Best choice for squeeze taps.
WIBBAHEIE,

>< DEREK 53 DEREK




TPG/TPM HPM

BT-TPG Rigid Tapping Chuck BT-HPM Hig h Speed Milling Chuck
BT-TPGR 14 I5 ZF 71 4 BT-HPM&E =45 %58 184 J] 5k 5R

o
I,
g
E
e
gk HEARK LERRF WFEES HE RUEE e 1 = 5 )
Iz Specification Suit coIIet Wrench Tapping capacity Weight Specification Suit collet Weight I3
X< faye
ne BT30- TPG312 44 65 M8X1P TPE312 LO6 M3-M12 0.73 BT30- HPM16-70 3-16 46 16 70 SC16 1.40 e
TPG1024 56 85 MI10X1P TPE1024 LO8 M10-M24 0.89 HPM20-75 6-20 55 20 75 SC20 1.80
BT40- TPG312 44 65 M8X1P TPE312 LO6 M3-M12 1.23 BT40- HPM16-70 3-16 46 16 70 SC16 1.60
. TPG1024 56 75 M10X1P TPE1024 LO8 M10-M24 1.39 HPM16-105 3-16 46 16 105 SC16 1.80
?‘;; BT50- TPG312 44 80 M8X1P TPE312 LO6 M3-M12 3.88 HPM16-135 3-16 46 16 135 SC16 2.30 %;
Ll TPG1024 56 80 M10X1P TPE1024 LO8 M10-M24 4.09 HPM20-80 6-20 55 20 80 SC20 2.40 L
a5 E BB ITE, HPM20-105 6-20 55 20 105 SC20 2.50
Notlce CoIIets shall be ordered separately. HPM20-135 6-20 55 20 135 SC20 2.80
03 HPM32-105 6-32 68 32 105 SC32 2.80 03
23 %% 25 / Feature HPM32-135 6-32 68 32 135 SC32 3.00 23
___ _ . . BT50- HPM16-90 3-16 46 16 90 SC16 3.90
BEATEEERTEEMT, WFor high precision tapping; HPM16-110 316 46 16 110 SC16 4.10
W & AR RS A, WWith internal coolant hole; HPM16-135 3-16 46 16 135 SC16 4.30
% Iﬁ)‘iﬂ%ﬁlﬂ[ﬁ%ﬁ‘]lﬁﬂﬁ%ﬁﬁo IDesign for hlgh SDEEd and rlgld tapping; HPM16-150 3-16 46 16 150 SC16 4.50 T
5%5 lﬁﬁ!ﬂ%‘é%ﬁ’ﬁﬁﬁﬂ'o W Short and CompaCt dESIgn. HPM20-105 6-20 55 20 105 SC20 4.50 *S;?jé
HPM20-135 6-20 55 20 135 SC20 4.70
_ _ _ o HPM20-150 6-20 55 20 150 SC20 4.90
. BT-TPM Tapping Chuck With High Rigidity HPM32-110 6-32 68 32 110 SC32 5.20 .
1 BT-TPM#H 2T oF 7] HPM32-135 6-32 68 32 135 SC32 5.90 1
e H 7 AR i HPM32-165 6-32 68 32 165 SC32 6.60 B
: - i REERSET, MEEEETR, :
- ‘ L Notice:Wrench is mcIuded while colletis to be ordered separately.
J—
N E a % 24 / Feature
— WEEERE: G2.5; 20,000 rpm. MBalanced: G2.5; 20,000 rpm;
W3DEE [ BEEH0.02 mm. WRunout (X3D): < 0.02 mm.
L1
L
gk EARK WFEES B
Specification Suit collet  Tapping capacity Weight
BT30- TPM316 50 10 20 111.6 162 TPD316 M3-M16 0.75
TPM830 66 10 25 148.6 199 TPD830 M8-M30 0.80
BT40- TPM316 50 10 20 101 168 TPD316 M3-M16 1.56
TPM830 66 10 25 141 208 TPD830 M8-M30 2.62
BT50- TPM316 50 10 20 118 222.8 TPD316 M3-M16 4,24
TPM830 66 10 25 130.2 235 TPD830 M8-M30 4.77
EEXAEX-E)S

Notlce CoIIets shall be ordered separately.

>< DEREK §I DEREK




HPC MLC

BT-HPC Hi h -speed Milling Chuck BT-MLC Power I\/IiII|n%a Chuck For Heavy Duty
BT-HPCE #5552 /18t J) S 5A BT-MLC3& /1 E 3k 2 82

MAX

i
I,
Mg
72
e
. IS wE i A 3 G| RISk y S F 5k ..
%w Specification Range Suit collet Weight Specification D] Suit collet %%
L BT30- HPC16-70 3-16 46 16 70 SC16 1.40 BT30- MLC20-75 6-20 51.5 20 75 SC20 1.59 w
HPC20-75 6-20 5.5 20 75 SC20 1.80 MLC20-100 6-20 5.5 20 100 SC20 1.73
BT40- HPC16-70 3-16 46 16 70 SC16 1.60 BT40- MLG20-80 6-20 51.5 20 80 SC20 1.85
93 HPC16-105 3-16 46 16 105 SC16 1.80 MLC20-100 6-20 51.5 20 100 SC20 2.11 @3
P HPC16-135 3-16 46 16 135 SC16 2.30 MLC20-135 6-20 51.5 20 135 SC32 2.65 nE
HPC20-80 6-20 51.5 20 80 SC20 2.40 MLC32-105 6-32 70.5 32 105 SC32 2.28
HPC20-105 6-20 51.5 20 105 SC20 2.50 MLC32-135 6-32 70.5 32 135 SC32 2.87
HPG20-135 6-20 51.5 20 135 SC20 2.80 BT50- MLC20-105 6-20 5.5 20 105 SC20 4.30
%E HPC32-105 6-32 70.5 32 105 SC32 2.80 MLC20-150 6-20 51.5 20 150 SC20 5.83 %g
i HPC32-135 6-32 70.5 32 135 SC32 3.00 MLC32-110 6-32 70.5 32 110 SC32 4.52 w7
BT50- HPC16-90 3-16 46 16 90 SCl6 3.90 MLC32-135 6-32 70.5 32 135 SC32 5.44
HPC16-110 3-16 46 16 110 SC16 4.10 MLC32-165 6-32 70.5 32 165 SC32 6.19
. HPC16-135 3-16 46 16 135 SC16 4.30 MLC32-200 6-32 70.5 32 200 SC32 6.95 _.
s HPC16-150 3-16 46 16 150 SC16 4.50 MLC42-115 6-42 86 42 115 SC42 5.50 S
1w HPC20-105 6-20 51.5 20 105 SC20 4.50 MLC42-135 6-42 86 42 135 SC42 6.43 L
HPG20-135 6-20 5.5 20 135 SC20 4.70 MLC42-165 6-42 86 42 165 SC42 7.65
HPG20-150 6-20 51.5 20 150 SC20 4.90 i MESSIRT, HREBEBITE,
o HPC32-110 6-32 70.5 32 110 SC32 5.20 Notice:Wrench is mcIuded wh|Ie collet shall be ordered separately. ¢
B HPC32-135 6-32 70.5 32 135 SC32 5.90 3]
s HPC32-165 6-32 70.5 32 165 SC32 6.60 %4 B / Feature "
F: REARSRT, AkEEBIE, ~ ‘
Notice:Wrench is mcIuded while collet is to be ordered separately. W76 A U220 1R KR S R HE S TR o
W T R R T AN AR SR SR B
¥ B / Feature BB ERPEEBRER TRANHEEMNEHEIMI, BKEHEE0.02mm,
- M The tool holder uses four special layers with 220 pieces bearing arranged in particular.
WE &R E: G6.3; 15,000 rpm. MBalanced: G6.3; 15,000 rpm; M It can reduce the locking resistanced and also show best performance on heavy cutting.
W3DEE & [ BEEN0.02 mm. WRunout (X3D): < 0.02 mm. B The usual length of power milling chuck show that the highest runout accuracy canreach to 0.02mm.

BT-MLC Power Chuck Kit
BT-MLCi& 1 E R AgEE L

BUgE GES H= 5E
Specification Collet PCS/SET  Weight
BT40- MLC20-100-5PCS SC20-6,8,10,12,16 5 7.30
MLC32-105-7PCS SC32-6,8,10,12,16,20,25 7 7.80
BT50- MLC20-105-5PCS SC20-6,8,10,12,16 5 7.50
MLC32-110-7PCS SC32-6,8,10,12,16,20,25 7 8.40
MLC42-115-8PCS SC42-6,8,10,12,16,20,25,32 8 11.40

»< DEREK §3 DEREK




SLN SLN

BT-SLN Side-lock Holder BT-SLN Side-lock Holder
BT-SLN{E & =X 71 4% BT-SLN{E & =X 71 4%
D
L3 Lo
A By EF AEEEES EE
- - T ET © . Specification  Figure L Sidelock screw  Weight
— BT50- SLN6-63 A 100 6 25 - 63 18 - 164.8  MO060U0SO 3.80 L
SLN6-100 A 100 6 25 - 100 12 10 201.8 MO60UO80 4.20 B &
L1 SLN8-63 A 100 8 28 - 63 18 - 164.8 M080U100 3.80 %‘%
L SLN8-100 A 100 8 28 - 100 14 12 201.8 M080U100 4.22 g
SLN10-63 A 100 10 35 - 63 18 - 164.8 M100U100 3.80
SLN10-100 A 100 10 35 - 100 15 14 201.8 M100U120 4.25
D La SLN12-80 A 100 12 42 - 80 225 - 181.8 M120U140 3.99
% ds L3 L2 SLN12-125 A 100 12 42 - 125 20 16 226.8 M120U140 5.00 zs
7 i SLN16-80 A 100 16 48 - 80 24 - 181.8 MI140U160 4.03 7
- - gy %1 B SLN16-125 A 100 16 48 - 125 22 18 226.8 M140U160 5.20
J\DHL | WIS SIN6-165L B 100 16 48 53 165 22 18 266.8 MI140U160 6.30
SLN20-80 A 100 20 52 - 80 25 - 181.8 M160U160 4.03
%j L1 SLN20-125 A 100 20 52 - 125 25 20 226.8 M160U160 5.30 ;:;;
" L SLN20-165L B 100 20 52 57 165 25 20 266.8 M160U160 6.35 e
SLN20-210L B 100 20 52 59 210 25 20 316.8 M160U160 7.25
SLN25-100 A 100 25 65 - 100 24 25 201.8 M180Z180P 4.62
T Rigk EER AIEEEEET =8 SLN25-165L B 100 25 65 70 165 24 25 266.8 M180Z180P 6.63 Y.
;%§ Specification Figure Sidelock screw  Weight SLN25-210L B 100 25 65 70 210 24 25 311.8 M180Z180P 7.30 7z
BT30- SLN6-60 A 46 6 25 - 60 18 - 108.4 MO060U080 0.55 SLN32-105 A 100 32 72 - 105 24 28 206.8 M200Z180P 4.80 "
SLN8-60 A 46 8 28 = 60 18 - 108.4 MO80U100 0.60 SLN32-165L B 100 32 72 77 165 24 28 266.8 M200Z180P 6.70
SLN10-60 A 46 10 35 - 60 20 - 108.4 M100U120 0.70 SLN32-210L B 100 32 72 77 210 24 28 311.8 M200Z180P 7.50
z3 SLN12-60 A 46 12 42 - 60 2255 - 108.4  M120U140 0.75 SLN40-115 A 100 40 90 - 115 30 32 216.8 M200Z180P 5.42 73
e SLN16-75 A 46 16 48 - 75 24 - 123.4 M140U160 1.05 SLN42-120 A 100 42 90 - 120 30 32 221.8 M200Z180P 6.14 *7%5
SLN20-75 A 46 20 52 = 75 25 - 123.4 M160U160 1.10 SLN42-210L B 100 42 90 95 210 30 32 311.8 M200Z180P 7.23
SLN25-90 A 46 25 65 - 90 24 25 138.4 M180Z180P 1.70 SLN50-120 A 100 50 90 - 120 35 35 221.8 M200Z180P 5.65
78 BT40- SLN6-50 A 63 6 25 = 50 18 - 1154 M060U080 1.10 SLN50.8-120 A 100 50.8 90 - 120 33 34.54 221.8 M200Z180P 5.58 .
4 SLN6-100 A 63 6 25 - 100 12 10 165.4  M060U08O 1.40 i MFEEBIE, i
#e SLN8-50 A 63 8 28 - 50 18 - 1154 MO8S0U100 1.10 Notice: Wrenchs shall be ordered separately. e
= SLN8-100 A 63 8 28 - 100 14 12 165.4 MO80U100 1.42 :
SLN10-63 A 63 10 35 = 63 20 - 128.4 M100U100 1.25
SLN10-100 A 63 10 35 - 100 15 14 165.4 M100U120 1.45
SLN12-63 A 63 12 42 . 63 225 - 1284 M120U140 1.26
SLN12-100 A 63 12 42 - 100 20 16 165.4 M120U140 1.50
SLN16-63 A 63 16 48 = 63 24 - 128.4 M140U160 1.31
SLN16-100 A 63 16 48 - 100 22 18 165.4 M140U160 1.52
SLN20-63 A 63 20 52 = 63 25 - 1284 M160U160 1.33
SLN20-100 A 63 20 52 - 100 25 20 165.4 M160U160 1.60
SLN25-100 A 63 25 65 = 100 24 25 165.4 M180Z180P 2.32
SLN32-100 A 63 32 72 - 100 24 28 165.4 M200Z180P 3.80
BTH [

See next page

B38 >< DEREK ;< DEREK




MTA MTB/SPU

BT-MTA Morse Taper Holder BT-MTB I\/Iorse; Taper Holder
BT-MTARK$#E TIHE ( #BEER ) BTMTBEICHE JIHR ( HR443HE )
MT.NO
i [ V7 NTE o
= ;
— %g
L1 ’7] g
L e
BIgE BER#EE ER hi 24T | EE
x5 Specification MT.NO Figure p d: Tension screw Range Weight s
7z BT30- MTB1-45 1 A 46 25 12.065 45 93.4 E060U160 ®10-014 0.55 7z
" MTB2-60 2 B 46 32 17.780 60 108.4 BT30-45-MT2 ©16-922 0.60 "
BT40- MTB1-45 1 A 63 25 12.065 45 110.4 E060U160 ©10-014 1.00
MTB2-50 2 A 63 32 17.780 50 115.4 E100U300-MTB ®16-®22 1.02
@3 MTB3-75 3 B 63 40 23.825 75 140.4 BT40-45-MT3  024-032 1.19 o
= MTB4-90 4 B 63 48 31.267 90 155.4 BT40-45-MT4  ®32-050 1.33 e
BT50- MTB1-45 1 A 100 25 12.065 45 146.8 E060U250 ©10-014 3.30
R E B MTB2-45 2 A 100 32 17.780 45 151.8 E100U350 ©16-022 3.57
B Specification MT.NO MTB3-60 3 A 100 40 23.825 60 161.8 E120U400 ©24-032 3.61 "
EE BT30- MTA1-45 1 46 25 12.065 45 93.4 0.55 MTB4-75 4 A 100 50 31.267 75 176.8 E160U400-MTB ®32-®50 3.68 HE
" MTA1-105 1 46 25 12.065 105 153.4 0.80 MTB5-120 5 B 100 70 44.399 120 221.8 BT50-45-MT5 ®©55-060 4.10 we
MTA2-60 2 46 32 17.780 60 108.4 0.60 . RERS R BT,
MTA2-120 2 46 32 17.780 120 168.4 0.90 Notice:Tension screw is included.
53 MTA3-80 3 46 40 23.825 80 128.4 0.80 33
;fé BT40- MTA1-45 1 63 25 12.065 45 110.4 1.05 BT-SPU Drill Chuck Holder 75
MTA1-120 1 63 25 12.065 120 185.4 1.28 i Y s =T
MTA2-50 2 63 32 17.780 50 115.4 1.00 BT-SPUR /&SR3 11
) MTA2-120 2 63 32 17.780 120 185.4 1.41 )
7t MTA3-70 3 63 40 23.825 70 135.4 1.13 S 3
B MTA3-135 3 63 40 23.825 135 200.4 1.75 s ke
E MTA4-95 4 63 48 31.267 95 160.4 1.35 ‘ - o :
MTA4-165 4 63 48 31.267 165 230.4 2.30 =T
BT50- MTA1-45 1 100 25 12.065 45 146.8 3.59
MTA1-120 1 100 25 12.065 120 221.8 3.88
MTA1-180 1 100 25 12.065 180 281.8 4.12
MTA2-60 2 100 32 17.780 60 161.8 3.64
MTA2-135 2 100 32 17.780 135 236.8 4.17
MTA2-180 2 100 32 17.780 180 281.8 4.39
MTA3-65 3 100 40 23.825 65 166.8 3.60 RIgE BEEE KRSEE =2
MTA3-150 3 100 40 23.825 150 251.8 4.40 Specification R Range  Weight
MTA3-180 3 100 40 23.825 180 281.8 4.73 BT30- SPU8-80 46 37 8 80 55 137.4 0.04 0-8 0.72
MTA4-95 4 100 48 31.267 95 196.8 3.88 SPU13-110 46 50 13 110 75 170.4 0.04 0.3-13 1.62
MTA4-180 4 100 48 31.267 180 281.8 5.00 SPU16-120 46 57 16 120 80 180.4 0.04 3-16 1.70
MTA5-105 5 100 63 44.399 105 206.8 3.74 BT40- SPU8-85 63 37 8 85 55 159.4 0.04 0-8 1.36
SPU13-100 63 50 13 100 75 177.4 0.04 0.3-13 1.76
SPU13-130 63 50 13 130 75 207.4 0.04 0.3-13 2.47
SPU16-105 63 57 16 105 80 187.4 0.04 3-16 2.18
BT50- SPU8-90 100 37 8 90 55 200.4 0.04 0-8 4.32
SPU13-100 100 50 13 100 75 213.4 0.04 0.3-13 4.98
SPU13-130 100 50 13 130 75 243.4 0.04 0.3-13 5.50
SPU13-180 100 50 13 180 75 293.4 0.04 0.3-13 6.06
SPU16-105 100 57 16 105 80 223.4 0.04 3-16 4.78
SPU16-130 100 57 16 130 80 248.4 0.04 316 5.24
SPU16-190 100 57 16 190 80 308.8 0.04 3-16 6.66

it HEESIRE,
Notice:Wrench is included.

B40 >< DEREK ;< DEREK




FMA FMB

BT-FMA Face Mill Holder BT-FMB Face Mill Holder
BT-FMAFEmE#E7I#% ( E4A3K ) BT-FMBIEmE#t714% ( E#RK )

d2
=

=1
=

L1 \ L2

T
i

#Hd

—
-
—
N}
—
~
=
TOOL HOLDERS

I ’ ) - - - L
%E L ;/’ gé
% g @ ; ‘L1 @ i
o ‘ B85 ‘

Ik = ” By ER BT  BE BB 7

RUgE EpN JTIESHERE] BE B= Specification  Figure Lockingscrewforcutter  Washer — Weight

Speciﬁcation F|gure D |_ Lockingscrewforcutter WaSher We|ght BT30' FM322'45 A 48 22 16 45 18 1 1 1 4 E100U3OO _ 085

BT30- FMA25.4-45 A 50 25.40 31.5 45 20 113.4 E120U300 - 1.10 EMB22-60 A 48 2% 16 60 18 126.4 E100U300 B 1.25
2% FMA25.4-60 A 50 25.40 31.5 60 20 128.4 E120U300 - 1.30 FMB27-45 A 60 27 33 45 20 113.4 E120U300 FM-1 1.20 %g
e FMA31.75-45 A 60 31.75 40 45 22 115.4 E160U350 - 1.35 EMB27-60 A 60 27 33 60 20 128.4 E120U300 FM-1 1.35 "o

BT40- FMA25.4-45 A 50 25.40 31.5 45 20 130.4 E120U300 - 1.54 FMB32-45 A 78 32 40 45 292 115.4 E160U350 B 1.35

FMA25.4-60 A 50 25.40 31.5 60 20 145.4 E120U300 - 1.77 BT40- FMB22-45 A 48 292 16 45 18 128.4 E100U300 . 1.31
B FMA25.4-90 A 50 25.40 31.5 90 20 175.4 E120U300 - 2.23 FMB22-60 A 48 29 16 60 18 143.4 E100U300 } 1.51 o
§§ FMA25.4-105 A 50 25.40 31.5 105 20 190.4 E120U300 - 2.47 FMB22-90 A 48 27 16 90 18 173.4 E100U300 B, 1.94 78;
w FMA31.75-45 A 60 31.75 40 45 22 132.4 E160U350 FM-2 1.65 FMB22-150 A 48 29 16 150 18 233.4 E100U300 B 2.70 W

FMA31.75-75 A 60 31.75 40 75 22 162.4 E160U350 FM-2 2.31 FMB22-200 A 48 3% 16 200 18 283.4 E100U300 B} 3.43

FMA31.75-90 A 60 31.75 40 90 22 177.4 E160U350 FM-2  2.64 FMB27-45 A 60 27 33 45 20 130.4 E120U300 FM-1 1.52
74 FMA38.10-60 A 75 38.10 50 60 25 150.4 E160U350 FM-3  2.36 FMB27-60 A 60 27 33 60 20 145.4 E120U300 FM-1 1.86 78
e FMA50.80-60 A 95 50.80 65 60 36 161.4 E160U350 - 3.50 FMB27-90 A 60 27 33 90 20 175.4 E120U300 FM-1 251 %ﬁé
#e BT50- FMA25.4-45 A 50 25.40 31.5 45 20 166.8 E120U300 - 3.87 FMB27-105 A 60 27 28 105 20 190.4 F120U300 FM-1 286 g
- FMA25.4-90 A 50 25.40 31.5 90 20 211.8 E120U300 - 4.54 FMB32-45 A 78 32 40 45 292 132.4 E160U350 FM-2 1.87 y

FMA25.4-150 A 50 25.40 31.5 150 20 271.8 E120U300 - 5.47 FMB32-60 A 78 32 40 60 29 147.4 E160U350 FM-2 2.32

FMA31.75-45 A 60 31.75 40 45 22 168.8 E1607350-40 - 4.04 FMB40-60 A 85 40 50 60 25 150.4 E200U350 FM-3 247

FMA31.75-75 A 60 31.75 40 75 22 198.8 E1607350-40 - 4.72 BT50- FMB22-45 A 48 29 16 45 18 164.8 E100U300 B 3.79

FMA31.75-105 A 98 31.75 40 105 22 228.8 E1607Z350-40 - 7.19 FMB22-90 A 48 22 16 90 18 2009.8 E100U300 B 4.53

FMA38.10-45 A 80 38.10 50 45 25 171.8 E1607350-50 - 4.27 FMB22-150 A 48 27 16 150 18 269.8 E100U300 B} 5.27

FMA38.10-75 A 80 38.10 50 75 25 201.8 E160Z350-50 - 5.48 FMB22-200 A 48 29 16 200 18 319.8 E100U300 B 5.97

FMA50.80-45 A 95 50.80 65 45 36 182.8 E2407350-65 - 4.74 FMB22-250 A 48 29 16 250 18 369.8 E100U300 B} 6.69

FMA50.80-75 A 95 50.80 65 75 36 212.8 E2407350-65 - 6.35 FMB22-300 A 48 29 16 300 18 419.8 E100U300 B 7.42

FMA47.625F-75 B 128.75 47.625 - 75 32 208.8 E160U500 - 7.60 FMB22-350 A 48 29 16 350 18 469.8 E100U300 B} 8.13

FMB22-400 A 48 22 16 400 18 519.8 E100U300 - 8.83

FMB27-50 A 60 27 33 50 20 171.8 E120U300 FM-1 4.04

FMB27-90 A 60 27 33 90 20 211.8 E120U300 FM-1 4.94

FMB27-150 A 60 27 33 150 20 271.8 E120U300 FM-1 6.25

FMB27-200 A 60 27 33 200 20 321.8 E120U300 FM-1 7.37

FMB27-250 A 60 27 33 250 20 371.8 E120U300 FM-1 8.51

FMB32-50 A 78 32 40 50 22 173.8 E1607350-40 - 4.40

FMB32-90 A 78 32 40 90 22 213.8 E1607350-40 - 5.79

FMB32-150 A 78 32 40 150 22 273.8 E16072350-40 - 7.10

FMB40-50 A 85 40 50 50 25 176.8 E2007350-50 - 4.57

FMB40-90 A 85 40 50 90 25 216.8 E2007350-50 - 6.45

FMB40-105 A 85 40 50 105 25  231.8 E2007350-50 - 7.02

FMBG60OF-75 B 140 60 - 75 25 201.8 E160U500 - 8.00

»< DEREK §3 DEREK




FMA/FMB SL0O/CSO/PB

BT-FMA-BG Face Mill Holder With Extra Taper Shank BT-SLO Oil-feed Holder
BT-FMA-BGEmEEE Ik ( inRFLEHR ) BT-SLOi & 71 4%
L
ds L1
L2 L3
o _TETT] \"7
M—m % At 5 r’/iﬁj e | ORI NI
J\ [ ] Uto %E I\Jﬁ }[ | J I ?g
L | w
L2 [ | «© i &
= L1 - ) ‘ XY g
% g &3 ] e | E
B85 Ll 1 2
PT% POSITION BLOCK
g!%n. ﬂﬂ%ﬁﬁ%ﬁ%ﬂ E% g!ﬂ 15]] JEF BX =
D : 3 5 Bl Ty /BR ER MR 6T wF BE
zy Specification Lockingscrewforcutter  Weight Speciﬁc%tion Sidellock screw  Wrench Weight z3
7z g L A T I S v R S o R oL A BT40- SL032-150 72 32 50 15 15 150  60/65  MI120U200 LO6D  5.33/5.35 73
FMA25.4-200BG 58 254 315 625 200 30  321.8 E120U300 7.50 SL040-150 72 40 50 18 19 150  60/65 M140U160 L08D  5.04/5.07
FMA25.4-250BG 58 25.4 31.5 62.5 250 30 371.8 E120U300 8.40 BT50- SL032-160 72 32 50 15 15 160 80/82 M120U200 LO6D 8.63/8.65
P FMA25.4-350BG 58 25.4 31.5 62.5 350 30 471.8 E120U300 9.70 . MEBESIRTE, =T, KSR 0 BB R T hE
FMA25.4-400BG 58 25.4 31.5 62.5 400 30 521.8 E120U300 10.50 B8 K -0 BRI I RELRT 9 = Ay HH ALY ARE
FMA31.75-125B6 70 31.75 40 75 125 30 248.8 £1602500-40 5 60 Notice:1.Wrenchis included; 2.Before order please check the distance B.
FMA31.75-150BG 70 31.75 40 75 150 30 273.8 E160Z500-40 6.30
%fﬁ FMA31.75-175BG 70 31.75 40 75 175 30 298.8 E16072500-40 8.30 . %f
# FMA3175-20086 70 3175 40 75 200 30  323.8 E160Z50040  9.10 CSO Reducing Sleeve &
FMA31.75-250BG 70 31.75 40 75 250 30 373.8 E160Z500-40  10.60 CSOmEETIE
FMA31.75-300BG 70 31.75 40 75 300 30 423.8 E1607500-40 12.10
. FMA31.75-350BG 70 31.75 40 75 350 30 473.8 E1607500-40 13.60 .
o . . J_j‘én o
BT-FMB-BG Face Mill Holder With Extra Taper Shank S B Lo
\| BTFMBBGFESETIMR ( &= HHE ) CSO 32-16 53 32 16 10 15 15 65 040 ] w
&l " 32-20 55 32 20 10 15 15 65 035 Al r g
# D{ﬂ 32-25 53 32 25 10 15 15 65 0.26 - A4 e
ﬁz ZZZ; @j 40-16 63 40 16 10 18 19 75 0.74
J\Dﬂw = sio| =q ¢l 40-20 63 40 20 10 18 19 75 068
— 40-25 63 40 25 10 18 19 75 0.59 B |
@ = L
% g L 40-32 63 40 32 10 18 19 75 04l L :
B85 L
Ao Dy PB Oil-feed Holder Positioning Block
Specification Lockingscrewforcuter  Weight PBi & 1- Sh 158
BT40- FMB22-150BG 48 22 16 50 150 30 233.4 E100U300 2.83
FMB22-200BG 48 22 16 50 200 30 283.4 E100U300 3.57
FMB22-250BG 48 22 16 50 250 30 333.4 E100U300 4.29 e =8
FMB22-300BG 48 22 16 50 300 30 383.4 E100U300 5.04 T :
ey
FMB22-350BG 48 22 16 50 350 30  433.4  E100U300  5.79 spseliGeien  Whel bolthdes 6
FMB22-400BG 48 22 16 50 400 30  483.4 E100U300 6.58 BT40-PB30-35 0.53 = T T
BT50- FMB22-150BG 58 22 16 62.5 150 58 269.8 E100U300 6.17 BT50-PB30-35 0.46 W ©) W 8
FMB22-200BG 58 22 16 62.5 200 58 319.8 E100U300 7.28
FMB22-250BG 58 22 16 625 250 58  369.8  ELOOU300  8.41 o : o 5 g 35
FMB22-300B6 58 22 16 625 300 58 419.8  EI00U300  9.55 E e Ll Sk et B 18.2:01
IEENR AT R EBATCE#ET £, Bk, BEHKBSHAEEENKESE, §
FMB22-350BG 58 22 16 62.5 350 78 469.8 E100U300 10.72 o v v
22 4 1 E100U300  11.92 58 Lo fl BT TALER
FMB22-400BG 58 16 62.5 00 /8 519.8 : Notice:Using oil-feed holder, positioning block illustrated here is necessary.
FMB22-450BG 58 22 16 62.5 450 /8 569.8 E100U300 13.20 This positioning block can be mounted to different machines. As the mounting differs
FMB22-500BG 58 22 16 62.5 500 78 619.8 E100U300 14.36 with different machines, it is necessary to consult the machine manufacturer about ©
the proper mounting. —I

B 44 »< DEREK 53 DEREK




